25=mEhait (17)

ZICRBIINAE . R AME RG], —ER S R




B=1 WRESRE
FPARER
—. FiHARERAH
(—) TR
(Z) SFEHRESTSERTRA
(S) BABIME




. BEABREESEIS

Bl — REFRE
W= REKXFRIVE



—. FHASESEH
(—) TFRHRIE
1N EN: \/*&j( [(xy5,90)2 f(x,9);

JBIN: f(x, 0 < f (20 @
/D BERBEEE £, (50,90 =0,f, (0o 1) =0 (AT

= [x(t13J . /\l\
), EEA S ER g
3) B E A TE 53 25 Xpo |

i‘ﬁ fx(x0,¥0)=0,ﬂ fy(x09y0)=0 A:S_XK - 5_)7
’ A> 00>
(1) F 4c-B>0 B, BHRE {A> ff’
—_— <0 Bk e
(2) & ACc-B*<0 B, FiR{a.
(3) Y AC-B*=0 B, A—E(—RAENFHIE).




(Z) FHIRESHIRZEE Eliiﬁl}f
1) BEL 1 (ny) £ (o(x y) 0 = TRIR(E.

A/‘ f(x, y)+/1¢(x )

F. = fl(x, )+ A¢.(x,y)=0,
F, = f,(x,p)+ i@, (x,y)=0, /
LFA =¢(x9y)=09 \/

A

2) Ei& f(xa Vs z\)/ E%‘q: (D(X, YV Z)‘,= O,I/I(X, Y, Z) =0
FH TFRISIFRIE.

é\ F(x‘,y,z,l,ﬂ)z f(x,y,z)+/Zo(x,y,z)+,ti§//(x,y,Z)




;0

L

J v
(=) RKR=IME b)) i
v o O /
J 1RGSR f(x, p) EERAE D LHRABIME Q

1) K f(x,y)E D REPATEERIRIE .

%2 R f(x,y) & p WARENBASME 2
4 v
3) kB /

/ 2. M
l) 2 E(Ktj)

®




Al — REFMAFRE

[501] KERE z=x"+y’ —3x* -3y’ H"J@LE-

@?‘g
(512 REB £ (x,5)=xr(ayx - ) WHIE. %

0



/
[5I3] SREAFHIE »°+y" +2° —2x+2y-4z-10=0

FREERE 7z =z(x,y) R {E. /\
(ﬁ@x{2x+2zz ~2-4z, =0,// (x| o1
2 2 2—-4z7 =0.
j y+ ZZLZ-I_ Z\y J )2 . y y
£ 7,=0z=08x=1Ly=-1HKRA @, 1§) A (1,-1,-2).

o | Y
@ 2+2(z,) +22z,,—4z,,=0
2z,z,+2zz,,—4z2,,=0
1+(z,) Z,° 32,
=g, = )Ty = =
RS 2-z 7V 2-z b
_1+(zy)2

2+ 2(zy)2 + 2zzyy —4zyy =0 (i= 2y



- o _3
[$513] SkER /572 x +y'+7°=2x+2y—-4z-10=0

FREEN c—oxy) WRE
/ V4 J
[#2) (x-D’+(y+D*+(z-2)" =16 Y (\ \ )
;[\ -

;,

7=2+ 16— (x=1)" = (y +1) WK

Q("‘[/Z'>

v v

P\p
/



v/ (/
(141 3 f(x.y) BoHEESH, = f(e?,x’ +y)

1
Conyxsy=T_ o) ee ™ oo & (0.0) /518

H ( lim
iiéiJ(x D' +y* /
Wi, ¥ BEREME, FRHBE
[#2] PE tim /oY=l A= -2<0 )/
\

; e J(x 1) +y°
%(x’y)_'“(x D2y+olo) Bk p=lGTer gt (0]
i @0) 0) f1(1,0)= f1(1,0)=-1

@ firevy fiax gy=fleTx £ 2y £L00)=0,8,0,0)=0.

= (fi eyt [ 20y + [l €Ty + (fh ey [l 2x)2x +
(e £ ey e (e fezptn (]
= (.fl’l’ eV x + flz ZJ’)exyx+ f' e?x’ + (fz’; eV x + fz,; 2y)2y +@ l

A=2f00=2B= £00)=-1, C=3£,00=C2)

g 2

(&

Y fosyade) 0



f(x uo = [*(xl ‘%DQj 0)'(‘0(/9) SRS MCORCEL AN
(5141 % f(x,y) ﬁ:BﬁL_@Eﬁﬁl (x,y) fle”,x? +y7)

limf(x,y)+x+y 1_0 ——Tr T"—"'H}Z

=l (=1 +
WM, BIERLEARERAR A EE R ME, FRHHARE.

[#2] BEEE lim/ oV X+r=1_ 4 m L p
;L o1 e 1) 1 ) 74)&4&95{&
/

f(x,p)= e(x x=1)Py+o(p) Het p=(x-1)"+y’
o f1,00=0 f(10) f(l())——l /
TR ATy S Tx g, Sl et iy, gx(OO) 0,£,(0,0)=0.
/) 1 :, :
cégq\&\(/b): E_z( Jﬂ(f}f&) KX(\(,\)) =8 ( )JPL%L(\,X") K= 0O
\/A:Lj‘(z_((l0> -~ L
b

C



J/
[615) & <= f(xy) EA iﬂ
4 ff&{’) 2 (0,0) % (x, yl)lg(lo0 s1n(x +y )

V4 J )k
XA) f.(0,0) NFE;

v

v/

f(x,y)

KE” § (0,0) FIE

— =

BARTE;

C) f(x,y) £ (0, 0) ALENER/ME; %
jj f(x,y) #E8 (0, 0) AL BUAR K IE ;

[#1] E]

E

=

O a

(x:9)~(0,0) sin(x* + y

® BFE (0,0) /REIE OB, ﬁ

[#%2]) HEBRIE

X f(x,y

——

fx 0,0)=0

ij

J==(x+y)<0  fi = 2%

’J’(O |B =0

Y
|



J
[Gl6] BRMER f(x,») EARO,0)MRANMPEHAELE B lim / (x y)- xy—l bl

(x,5)=(0,0) (x2 +y ) _

o

JA) B20,04Z f(x,y) NIRES; y f{o 0) S B t —>O0
B) m(0,00 &% f(x,y) IBKES; ..
C) AO,0R f(x,y) BBMER; 109 420 D fay) ok
D) #Eiﬁﬁﬁéé%#iﬁi#llﬁﬁﬁ 0,0REBZE f(x,y) HRES; /@4
S ON::) 1)111(100)f(’§’ y)- xy—l M (£(0,00=0 B |
(x +y) =l+ae v ;)Clgéa %_j'(x):/_\+Q\/
- giplyatatery) o
4(7 y=x 15: f(x,x)=x +4x +400c —x +0(x ) >

& y=-x8B: fx- x)—@+4x + 4ot —@+M__)




x“v
[5l6] BHEH f(x,y) RO 0)WEMMERZEE B 1im /"9

x)-0.0) (x* + y*)*

\/ A =0,0 P2 f(x,y) HRES; Q K/Q( t\j") )vas,é
B) (0,002 f(x,y) W KERS; 5D ) X'MH K

C) R0,0& f(x,y) BHB/IMES; jso .
D) RIBFTAFHTEFIE = (0,00 BRER f (x y) BIER{E 1E,m \l/jlx
=

FNE STHEABRPERENA

(C) B (0,0) & f(x,y) B9 /AME S U XCF 2_ X

(D) MRIE BT 45 4 ok H %ﬁmw l_v /O 5\7(9 v (Y
B A p=ya®+y B J/ Y‘”“"[ ) 8
% Flw P = pt +o(p*), _QL,\\ ( T X )
—J—(OID) 0

L (7,9) = (0,0) Mg T A S w0

T 2, % (0,0) MO 0833 o oy HUB) T 2y 4E(0,0) B EAF B A E , )(%0 , q
$(0,0) R S (x,y) HIBLAEE , BV (A). ><

it

Tt x
- g FLERESS
x99 X ® o




WE— REARME
J v/

[501]) ReR# §=x2y(4—x—y) EEZ x+y=6,x ZhA0

FFTERRAXE p FHMSXKEMS/ME

0z =0
o Y@= x=y)=xy {cyy(__g“@ O
®

%=x2(4—x—y)—x2y=x2(4—x—2y):o
ay , - —N T
3Ix+2y=8, __,

B TS w20 B (en<=4) S
x+2y=4, ;

FiLF x+yi6(03xs___6) F, z(x,y)=2(x3—63£)(OleS6)

31&“%

£ o(x)=2(x’-6x7),

H ¢'(x)=0, 7 @ %

0

8



S
[512] ReEE z=x+y’—12x+16y TE x* + y* <25

s XESR/IME.
0z

QD o= 2x-12=0, ’ )
[#21)Y—H <ax B x=6,y=-8.
——2y+16 0,\/

Oy /

@F(x, yA) = 2x+16 5y +Ax" +y" ~25)

—25 12x+16y+/1(x + y* —25)

72(3,~4) =(=75,7(=3,4) = 125
J, I

Fx =—124+2Ax =0,
- x, =3, x, =-3,
B {F =16+24y=0, fRig { {
n=-4 (y,=4
F,=x"+y"-25=0, S




[52) KeRE z=x>+p*-12x+16y £ x>+ p* <25
sk ESRME

/
=5cos0,
- (ros0 o e,
y=5sinf, —
J

7=25-60cos@ + 80sinf@
—— -




J

[512] KR z=x"+ )y —12x+16y TE x>+ y? <25
THsXESRME. L/

[##3)] z=x"+)y'-12x+16y=(x—6)"+(y+8)*-100

v_”—\/-\_/-v

4

A

J
BRAMR (6,-8) WHER y=-_x.

z(3 —4) =(-75,k(-3,4) =125

- %



[513] Ken# u=xy+2yz FEAREH x*+y*+2°=10 -
THBAMESBME
[##] & F(x,y,2,A)=xy+2yz+ A(x* + y* +7° —10)

. ,  V
@ Fx=.V+@k7=0 J @j ) LNCEAR &y X (tx-2)=0
F =x+2z+21y=0. SYALXY = Q 6»6
d '_‘_ l £ — 2 )
< F'=2y+22z=0 @ ARD > 222K
LFﬂ'=x2+y2+z2;10=()k/ / }=§x“
1) E’ﬂ#ﬂ H‘j, 2x=z,§x =y2, | ®)\2~0/ \a,g_o W4 LE >0
1)1(19\/592)9 Pz(_la\/ga_z); 1)3,(19_\/592); 1)4(_19_\/59_2); L// \/

2) H 1=0 B, y=0,x+2z=0,
PS(Z\/Ea()a_\/E); 1)6(_2\/5909\/5);
@ u(l’1)=u(l’4)=@ u(P,)=u(P,) =-55; u(P5)=u(P6)=@
N NE




(B4 ZEHE x*+4y* =4 EXR—g, fE]

2x+3y-6=0 HIEBERE. N
2 3y—6 —6)>
(42 \/d=‘ x+3y \, a 2x+3y-6)* / N ()
V13 13 ]
F(x,y,/l)=(2x+3y—6)2+/1(x2+4y2—4) r/
X N

(BB

—_—

(F.=42x+3y—6)+2Ax =0,
F,=6(2x+3y—6)+84y=0,

A

F,=x"+4y’ -4=0,

(8 [ __8 1
1= = 2= T
y 5 5 1 11
MME ) d = —,d =
5 _ 3 _ é ‘(xl,yl) /13 ‘(xz,yz) /13
V1= 5’ k.Vz = 5’ y Y

) AEKRES.

U | OO

AR X ARG EEEE, A S

E

D |




[##2] E% 2x+3y-6=0 BIFRER k=—2

3
X H x*+4y° =4 # 2x+8yy' =0, y’=_4i
— — Y
2 X ViU

- “=—" Bl 8y=3x
3 4y Y

9 8y=3x 5 x*+4y* =4 BB

4 \/ e
T8 (8
1 59 2 59
4 )
_3 __3
k.)’1 5’ k.Vz 5

mJLAIENE, & (g,g) RIS B R B A



(§I5] EM=ARAKN 2p  RECHEDH—NiEH

B T iEsE R A R KR =FAF. y /&
K
J \\\eu
(2] v="ry ¥ X’fj“t:lf ~ -
3 - ) A’l ﬂ I, J/ 1o }Z
S=\p(p-x)Np-y)Np-2)=_yh y

4T Y \(:’Mnd\/z T

Vz_ﬂp(p—x)(p—y)(p—z>,/ (x+y+z=2p) =5 W y g3 W)

_ - y J
%F(x,y,z,/l) I p=y)+tIn(p-z)-Iny+A(x+y+z-2p) /
v / J



J J/
(22) ZEFRBFE Q HBAXBEANE x MSEENE y RE, RN

@uxly P RHERY 50 HWEEN o 160150, 8%

/
TN B Bﬂ?ﬁ)\ﬁﬁﬁﬂ%ﬁ%ﬂﬁ 6% 8, ﬁﬂ:lﬂaajtﬂ‘lﬁﬁfzg

[#%] @zig—(6x+8y) =(1160—1.5Q)Q—(63f+8)?) d = ()KT%j

= 13920;£Zy|/6 — 2163_cy3 —6x—-8y v

v v 1 1 /
=13920uy — 216u°v? — 6u* — 8v° (x*=u,y’=v) -

oL

ou J/
— =0,
OV



<k
[517] FIAFHRERTS AU : FMEEIER a,b,c,{)%:abc"’ < 2—Z(a +b+ c)g:k 5

;{——‘—— 5 ——
GEN] REERTERER & m&ig&ﬁ: W

e /\'.-

—

THRXERET S—k5 BiRr J

—

4 F(x,y,z,/?.)=xyz +A(x+y+z-k)

rFx=yz39@0,
F =x7° A1 £E0, )
HJ 7 {§x=y=§,z=%.

=3xyz’ +D= 0, S

F —x+y+z k=0,
EEI:F_IﬁcE'J’I‘&EfﬂE— Fik & K{EFTE, ')'"Jﬁ-jdﬁ?"

I Ry

v




J
[iiF2] REFAMERIES £, BE o EFH x+y+z;=/k_

TwEAEFEE e By J oS




B2 —_HfAp
FERAETER
—. ZRATESREH
(—) —ERSHEE
(2) —ERSHNERY
(S) —ERAMIEE
¢ () —ERHE



. BEMBRESEIL
/{[ @ < ail— TET"HNS
B — SRR HIRFENITE
= 5THINSEXGER
Bl 5 SR EXIAF >

ox/gé




—. FRAEEREH
(—) —ERSHEE

“ f(x,y)do =!llilgif_£§£ﬁ,£ Ao, )

=) CERSWARY

(=) ==k ’ 0 @
[

E e

AEN k— —
)9 ~ 9 J
(1) F f(x, )< g( o . o

/\L//

D



(2) & f(x,y) £ D b&EE, N

mS < [[ £(x, y)do <(Ms.

(3) Mj f(x, y)da]é [[1fx, io.
2. AnHEEE

& f(x,y) T p LS N

[[ f(x,p)do =f(é‘{S/



() —ERSEHE ||

1. JIHERYFRTE N
L X4
DEkyE x ZASE: o

n

Yy (x)

Hf(x ndo=|’ [y

2) kxlw

x,(y)

_”f(x,y)do- j- dyj- f(x,y)dx/

2. FIAREFTE

GQ/

_”f(x,y)@ I dﬁj @ f(rcosH,rsinH)idr: =



‘ ° . ‘ X—~X0~\[f7& /
[E] ) ES BRI BB \
FAR+YRCLIC) = e
X Ty

i) B A RIS 2y
X+ SR P LX+y <R X+ y' <2ax; x ‘Qg'z‘]
3 FIRRIMERIS AT = J< ot
OERSE p *?@mi‘ﬁdﬁ. m:  x éé . —f} /
Y\ (@

KZHf(x,y)do-; f(::_xay)=f()£ay
Dx20 v J

JI fx.pydo =

S fexn==fon) | —— 8
@ ERHWAT (x fntih, WY
2[ £ p)do fxmp)= £(x,9)

0 fm-p =01y /[

[[ f(x,y)do =



X \’,E( n .
4 FIREEXTRIETE L) r = e) h/ J K
b v / S o D <

[ rGoas=[! raa

[[re, )da=§[ﬂ Copo+[[ f(odal

4

FRIEY H@M:Hfg_)da J



BiEEM
b NS 4T




BiEEM
b NS 4T




